¢/ ON
L
= N
2 e
© —
= ana. S M wm
Q = |» Hm
© =
> 15
pa 2 | o
o
5 8|S
1 i) S
W 3 © 2 |3
5 _ B
@] Q | o |
Q |z S |5|38|8
2 137|382+
m w W m. o .m S m
o = )
C |5 8|8 AHE:
Ll = o | & W S
) gl © S| =
N — ~
@) S mv = 5
e -
[\
3
(o]
©
>
o)
N 5
a m o @
S| @ il
S $ls|s
M 2 S S| a
W |8
Q T I 8 c
M s © = © @
N S|a| & x | S
Q )
Z "opo
m\tm\soomgQO J8/1UOY mm.wNN @m.wNN OO.O Oo_vw
29'812[28'822|000 ~00°}LL
£
©
1
-
6G°8/2|€G'8/¢2[9070+ - ~0€‘€S
@
i
02'8/2|02' 822|000 -00°'€C
‘ o
16'2/2|v8'LL2|L070+ -00'G L S
P
+
, o
&
I\s
N~ 1 | ‘
cu1zd 05772 S 4 00°08
h_
6¢ 112|cS 112 €00 ~00°29
X
[92]
©
i
// 69°9/¢|28°972|81 0 \— -0€°0€
Z2U1zd 19972 4! -ov'se
2€9/2|05'9/2| 810 059 o
o
w5
; 0856 +
c19/¢ S
20'972|86'GZ¢[v00+ VU -0€'98
10'9Z¢ = 089/
™
IS
I /e
@
S
N
1}
—
80°9/2|98°SZ2[cL 0+ 0095
66'G/Z|€8'S/Z[91 0+ -00°C€
SESI|I8SIEpo0r | | & -05'G
&
S
S
8 ® N
. o
£8'G/Z|98°G/Z[E00- -00°G8
puizd GI'S/C 4! -0Z'09
€1°G/2|¢LSIe|l00+ ~00'GS
G9'G/2|clSI2[ 200" ~01°0¢
o
oL'C/ZlZec/ZRl0x 002 J m
+
17'G/Z|0€'GLe|F 1 0+ -02Z'v6 o
6¢G/2|82°S/2|100+ IS ~00'2L
S
[9p]
N
|
S
0]
S
I
10°S/2|VeSIepL0- -0E' vy
€6'7/2|€8'7/2[0170+ -0Z'vZ
. . . -0€'g o
popozewemozizs 9 S S 8 g Sl sy 8 8 g I8V IZ[yOVLg|Lr 0% m
zopo euemooeido yorezood &1 R & NI & &I N @ N x ZZVIRIVITE0 0+ +
! N o N N N N N o o~ N g
g3 o
g o
§ 2
S| €
Sl o
N
o~ <
K] 3 © 5
N N :m X
Q0 <
1%} [} oY S ~
Q9 £ N O N
S| & 5| 2
3| = 3 ° -~ 5 =
S O @ Re) ] = S S
S oy [S s S [S) S
L ah < ‘N © m [} k>
S| 8 @ £ o Q2 S o
al QA = \d 2] 154 e} I




